The Solution

The puzzle consists of 5 poems by the famous Chinese poet % [ I (Li

Bai or Li Po), two of which I readily recognize from my studies of Chinese.
In each of the poems, there are erroneous characters. These erroneous
characters lead to the solution of the puzzle. Clues in the flavor text include
‘big 5°, which refers to a coding scheme for Chinese characters, and a well
known poem by Libai has him drinking wine with the moon and his shadow
for company.

Original Characters yield

- A ,» - l)\ ‘&
E [ [ J 1_594\_[/ H L
which translates to literally: “white emperor city’s province name”

‘white emperor’ is actually the name of a city, BaiDi

Although the city of Baidi is currently in the Chongqing Municipality
which was formed in 1997, which has all the political and economic
ramifications of being a province, it is still located in Sichuan
Province. The Chinese Consulate says, if you asked what province | |

ﬁiﬁ‘} is in, “It would be safe to say that the answer is [/*/[[.”

Substituted Characters yield

IR

which translates to literally: “country language net horse spell sound”,
which doesn’t make much sense

“country language” is another way of saying Chinese

“net horse” in Hanyu Pinyin romanization is luoma. These two words
are the transliteration of Rome.

“spell sound” means phoneticize



The six words, @'?ﬁ%@ﬁu#ﬁ |, represent a commonly used
romanization system in Taiwan, which uses the ‘sz’ construction for
the word . If the teams use this system of romanization, it should

lead them to the ‘Szechuan’ spelling of “/]].

Helpful websites:

\!vwwrzhm,qwemq

l?t'[D ’www.chinapage.conmy/libai/libail.html

\!vww.romamzatlon.com



http://www.zhongwen.com/
http://www.chinapage.com/libai/libai1.html
http://www.romanization.com/
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AARMEFFE = AA Wade-Giles &% - BF R XM FRERBA TS F AR 28 O BF M2 &2 HF 3%

Bif-A AEI-A WG EFF-A BER=A WG [REH-A REA=N WG mEF-A MERIX WG | EEE- WERSK WG
7Y ba pa Y a ta €A% guai kuai Tu shiu hsu A 123 tsai
2z bo po & & te te KA guei kuei T U 4 shive hsuch LY tzei tsei
9% bai pai % % tai tai € A3 guan kuan TS shivan  hsuan L tzau tsao
71 bei pei + & tau tao « A & guen kun T U4 shiun hsun PR tzou tsou
9 4« bau pae R tou tou A A guang kuang T u L shiung  hsing | P B tzan tsan
75 ban pan * 5 tan an { A L gung kung TH 1zen tsen
] ben pen + & tang tang £l 3 chih P i 1zang tsang
74 bang pang + L teng teng FY ka ka $ Y a cha L tzeng tseng
7L beng peng + - th ti T & ke ke.ko $ je che T A t2u tsu
e bi pi T = 4 tie tieh LR kai kai %5 ai chai FAZ tao <0
7 — % bie pie * — & tiau tiao T & kau kao Y jei chei T A taei tsui
‘9 — % biau piao *t — % tian tien T R kou kou W& jau chao P RS tzan tsuan
‘9 — 3 bian pien * — L ting ting T 5 kan kan 34 jou chou P XA b tzuen tsun
9 — 5 bin pin +* A w tu T hH ken ken BB an chan P A L tung tsung
7 — L bing ping * AT wo to kRS kang kang ® 4 jen chen
7 A bu pu & X\ wei tui T L keng keng L2 3 jang chang * sz zZu

+ A5 wan tuan T X ku ku $ L jeng. cheng Y tsa tsa
kY pa pa % X 4 twen tun FTAY kna kua + X u chu L ise tse
2z pe po + X L tung tung T AT kuo kuo 2 AY  jua chua 5 i tsai tsai
b3 pai pai FTAF kuai kuai X T jue cho + & sy tsan
- ¥ pei pei 3y na na F AN kuei kuei A FH juai chuai 4 R (] 1500
2 & pau pao 3% nai nai F A3 kuan kuan X U juei chui + 5 tsan tsan
i R pou pou 3 el nei T AL kuen kun X B juan chuan & iy tsen 1sen
b ] pan pan I % nau nao F AL kuang kuang $ X & juen chun + 4 tsang 1sang
a L pen pen 3R nou nou T AL kung kung XA jusng chuang | & L tseng tseng
2 & pang pang 35 nan nan 4 A L jung chung A tsu tsu
& L peng peng 34 nen nen ry ha ha t X Z  tsuo 50
& - pi pi Ik nang nang r& he he,ho % chr chih H A A tsuei tsui
& — & pie pieh 3L neng neng, re hai hai ER cha cha F A B qsuan tsuan
X — &£ piau piao 3 - ni ni A hei hei E che che H A L tsuen tsun
% — B pian pien F =4 nie nieh T & hau hao ER chai chai H X L 1sung Isung
® — 4 pin pin 3 = % niay niso rx hou hou 4 & chau chao
X — L ping ping 3 — X niou niu ra han han ElS chou chou & sz ssu
2 A pu pu 3 — 5 nian nien I hen hen £ 5 chan chan LY sa s2

3 — %45 nin nin r & hang hang 1 h chen chen OHE se se
ny ma ma I — & niang niang I L heng heng S chang chang LA sai sai
ne mo mo 3 — L ning ning X hu hu 3L cheng cheng bk sau 340
n & mai mai 3 X nu nu I AY hua hua % X chu chu 4R sou sou
A mei mei IXZT nuo no " X T huo huo 4 XY chm chua L5 san san
n#« may mao 3 A% nuan nuan I A%  huai huai 4 X T chuo che LB sen sen
nx mou mou 3 X 45 nuen nun I A\ huei hui 2 A% chuai chuai A sang sang
n5 man man 3 AL nung nung I X3 huan huan £ X\ chuei chui H L seng seng
nhL men men Fu niu nu I A 4 huen hun 4 A3 chuan chuan 4L X su su
ni mang mang 3 U nive nueh I A & huang huang. 4 A 4 chuen chun L AT suo $0
neLo meng meng I A L hung hung 4 K & chuang  chuang { A X 1\ suei sui
n- mi mi hY la la 4 X L chung chung A A% suan suan
=4 mie mich n T ie le q - i chi 4 A B osuen sun
N — £ miau miao hH 1ai Tai 4 =Y jia chia I shr shih A A L sung sung
M — X% miou miu h A lei lei 4 -4 jie chieh Py sha sha
N — 5% mian mien h & lau lao 4 — & jiau chizo P& she she Y & a
N — & min min hH R fou lou 4 =R jiou chie P % shai shai & e €,0
N — L ming ming h B tan fan 4 — 3 jan chien P shei shei % ai ai
A mu mu h A lang lang § =& jin chin Pk shau shao « au a0

h oL leng leng 4 =& jang chiang PR shou shou R ou ou
cy fa fa A - [ li 4 — L jing ching P5 shan shan i an an
Cz fo fo A=Y lia lia qu iu chu Ph shen shen & en en
C A fei fei #H— i lie lieh U jiue chueh 7 A shang shang * ang ang
C R fou fou A = & liaw lino 4 U3 juan chuan P L sheng sheng n er erh
c5 fan fan H — R lou liu 4 b jun chun 7 X shu shu
T kL fen fen H — 5 Jian lien 4 UL jiung chiung P AY shua shua - yi yii
C 4 fang fang h =54 lin lin P AT shuo shuo - Y ya ya
C L feng feng A — A liang liang < - chi chi P X% shuai shuai - ye yeh
C X fu e A — L ling ling < =Y chia chia P A A shuei shui - % yai yai

h X v fu < — # chie chieh P X%  shusn shuan - % yau vao
Yy da ta Hh AT o lo 4 — % chias chiao P X H  shuen shun - R you yu
& de te A A B fuan {uwan < = R chiou chiu P X & shuang  shuang | — & yan yen
A dai tai H AL luen lun < = 5  chian chien - yin yin
A dei tei B AL lung lung £ =4  chin chin =] r ih - % yang yang
& dau tao A liu tu { — A chiang  chiang 8 Z re je - L ying ying
i A dou tou AU Y live lueh £ — L ching ching B & raw a0
B dan tan H 5 tivan luan <u chiu chu g 2 rou jou X wu wu
 k dang tang < U4 chive chueh 83 ran an A Y wa wa
L deng teng ®r ga ka < U B chivan  chusn g 4 ren jen AT wo wo
- di 1 (- ge ke,ko < w5 chiun chun B i rang ang AH wai wai
=% die tieh KB e kai < 4 L chiung  chiung g L reng jeng A wei wei
5= & diaw tiao &\ gei kei B X ] u A 5 wan wan
7 — R diou tiu & & gau kao T shi hsi B XZ o jo A B wen wen
H — 5  dian tien € R gou kou T =Y shia hsia B XA roei jui Ak wang wang
b1 — L ding ting L] gan kan T — & shie hsich B X %  ruan uan AL weng, weng
5 A du 0] € b gen ken T — % shiau hsiao B X 5 ruen jttn
AT duo to € x gang kang T = R shiou hsiu B XL rung ung u yu yu
AN duei tui L L geng keng, T — 3  shian hsien Uy yue yuch
52 A B duan an € X gu ku T — & shin hsin P 1z tzu u 3 yuan yuan
5 A 5 duen tun KAY gua kua T — & shiang hsiang 7Y 128 tsa u i yun yun
7 A L dung tung € XZT guo kuo T — L shing hsing Pz 1ze tse [SlV R yung yung
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